
SAP ABAP table RJG_BADCUSTOMER_100 {IS-M/SD: Undesirable Customer, Selection, Screen 100}

RJG_BADCUSTOMER_100

VKORG [CHAR (4)]

VTWEG [CHAR (2)]

SPART [CHAR (2)]

PARTNER [CHAR (10)]

AUART [CHAR (4)]

DRERZ [CHAR (8)]

BUT000

CLIENT [CLNT (3)]

PARTNER [CHAR (10)]

 RJG_BADCUSTOMER_100-PARTNER = BUT000-PARTNER 
0..N

0..N

TJAK

MANDT [CLNT (3)]

AUART [CHAR (4)]
 RJG_BADCUSTOMER_100-AUART = TJAK-AUART 0..N

0..N
TSPA

MANDT [CLNT (3)]

SPART [CHAR (2)]

 RJG_BADCUSTOMER_100-SPART = TSPA-SPART 
0..N0..N

TVKO

MANDT [CLNT (3)]

VKORG [CHAR (4)]

 RJG_BADCUSTOMER_100-VKORG = TVKO-VKORG 

0..N

0..N

TVTW

MANDT [CLNT (3)]

VTWEG [CHAR (2)]

 RJG_BADCUSTOMER_100-VTWEG = TVTW-VTWEG 

0..N

0..N


